LB-40-2

01/02/2008

LB-40-2

Macca (HeTTO0)

31.8

Kg

Buemnue Pazmepsl

430*330*350

mm*mm*mm

V3en macoca LB40-3




LB-40-2 01/02/2008
¥3eua Hacoca LB-40-2
MpumeHs- | [Mosvuua B

Kon AEPTEEEERTD €MOCTb | geTanupoBke
11131005 | bont wkunsa M10x45(J1eBOCTOPOHHWMIA) 1 1
11124001 |Uan6a ctonopHas NeBOCTOPOHHsSS P 8 1 2
21213002 | Llanba $38 1 3
21212003 |LWkus LB40 1 4
11131004 | Bont kpennexHus M8x25 4 5
11123003 |'paBepHas wariba ¢ 8 28 6
21113004 |lepeaHss Kpblwka 1 7
21177005 | ®ukcaTop canyHa 1 8
21166001 |CanyH 1 9
21152003 |lMpoknagka nepegHen KpbILLKn 1 10
21161004 |CanbHuk 1 11
21134001 MogwmnnHuk 62052 1 12
21136001 |CermeHTHas LUMNOHKA 1 13
21131005 |KoneHBan 1 14
21111011 |Kaptep 1 15
21169001 |lNpobka cnuBa macna 1 16
21164002 |Macnoykasartenb 1 17
11131001 |BonTt KpenneHus Kpbiwkn M6x20 3 18
11123002 |I'paBepHas wariba P6 3 19
21112003 | 3agHsas Kpbllika 1 20
21155001 |lMpoknagka 3agHen KpbILwKu 1 21
21134003 |MoawwnnHuk 6205 1 22
21167002 |lpobka 3anvBa macna 1 23
11133001 |Bont macno pasbpbisruBatena M4x10 3 24
11123001 |lWan6a ctonopHas 4 3 25
21163001 |Macnopasbpbi3rusarens 3 26
21132005 |UatyH 3 27
21143002 Maney nopwHa ®14,5x57,5 3 28
21141003  |lMNopweHb P65 3 29
21144002 |CtonopHoe konbuo 14,7 6 30
21145003 |KomnnekT konew, 65 3 31
11141001 |Wnunbka M8x35 12 32
21153001 |lNpoknagka umnuHgp — kaptep P65 3 33
11111002 |lavika M8 12 34
21121004 |UunuHgp 965 3 35
21151002 Mpoknagka brioka KnanaHoB HWXHAS P65 3 36
21124003 |KnanaHHbIl 6510K 8 Komririekme P65 1 37
21154001 |lpoknagka broka knanaHoB BepxHsia P65 3 38
21123003 |lonoBka uMnuHgpa 3 39
11132004 |BonTt Bo3gyLwwiHoro punbtpa M8x30 6 40
11122001 MepgHas wanba $8 6 41
21175002 |PunbTp BO3QYLUHbIN B cbope 3 42
11132006 |BonT KpbiwkK 6rioka uunmHgpos M8x50 12 43
11113001 |lanka $14,5-27 1 44
21174003 | TpowHMK 2 45
21171002 |Pagwnatop 2 46
21173001 | YronbHWK 1 47
21125013 | [lnacmuHbl KnanaHHbIe 8 Komrnekme (2um) 1 37/2
21126002 | AnomuHuesasi rpoknaoka 1 37/3
21177012 |llampoH 8030ywHo20 ¢unbmpa 1 42/2

¥V3ea nacoca LB-40-3
3anmuyacTu umeomme oranyus ot LB-40-2
K Mprmens- MNo3numna B
oA HavumeHoBaHne
€MOCTb | JeTanvpoBKe

11121011 |Wanba ¢8-d38-5 1 3
21113011 |llepeaHsas Kpbiwka 1 7
21178001 |dwukcaTop canyHa 1/4" 1 8
21152001 |lMpoknagka nepegHen KpbiLKK 1 10
21131013 |KoneHBan 1 14




LB-40-2 01/02/2008
21111026 |KapTtep 1 15
21164004 |Macnoykasatenb G3/4” 1 17
11134002 |Bont macno pasbpbldrmeatenst M5x10 3 24
21162002 | Macnopasbpbi3rearenb 3 26
21132004 |lWaTyH 30-p14,5-108 3 27
21124010 |KnanaHHbIn 6nok B komnnekte ©65 M8 1 37
21122014 ["lonoBka UMnNuHgpa 3 39
21174008 | TpoWHMK 2 45
21171013 |Pagwmatop ¢12x200 2 46




	LB-40-2

